> A
N & 0l & Av S Z M A
20229 =3 3 3 ALSEFA A
AN FAEEIB
X HeHHg  Agiiss L
SRl SOl ¥ AgEAEY A (ALEEGH (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
3| Al & Hl 440,000,000 444,750,000 A4,750,000
= 2,735,228 2,735,228 0
J| 3,938,223 3,938,223 0
e 64,884,084 64,884,084 0
< 368,442,465 373,192,465 A 4,750,000
Mooy 2 Agissy 28t 60,562,224 59,516,375 1,045,849
= 1,603,716 1,603,716 0
e 12,660,899 12,660,899 0
< 46,297,609 45,251,760 1,045,849
St & Agsmes Ao (ALSEFH) 16, 147,603 17,097,603 950,000
= 553,716 553,716 0
< 15,593,887 16,543,887 A 950,000
ALBRY ASFSEEINME 5,935,900 6,885,900 A 950,000
201 L Et2E | 5,935,900 6,885,900 A 950,000
04 XEEENH A S ZH 5,935,900 6,885,900 950,000
ORFJESANME SNEAE 4,810,900 5,656,200 A 845,300
OXFE=EINNME SHEE 1,125,000 1,229,700 A 104,700
23US A" U (ALSE3H) 44,414,621 42,418,772 1,995,849
= 1,050,000 1,050,000 0
E 12,660,899 12,660,899 0
=) 30,703,722 28,707,873 1,995,849
LHFEA M- EF XA 3,494,229 3,628,937 N 134,708
403 A X EHHSXH=0lA 2,711,619 2,826,327 A 114,708
01 AXISHHA2E = 2,711,619 2,826,327 A 114,708
O2x2EA JIsEZ S 2,711,619 2,826,327 A 114,708
406 JIEtAH=Z 01 & 760,000 780,000 A 20,000
01 JIEtRHE201 & 760,000 780,000 20,000
OHl&tHol=a Xt 760,000 780,000 A20,000
ol g1yl 2,822,875 692,318 2,130,557
801 ol 8l 2,822,875 692,318 2,130,557
1 erolglsl 2,822,875 692,318 2,130,557
oolglsl 2,822,875 692,318 2,130,557
Mets ogdas 2at 1,960, 152 1,966,652 A 6,500
HE gt dEs RS (ALSHS ) 1,960, 152 1,966,652 A 6,500
ogAiadll s N&A 486,857 493,357 A 6,500
201 €24l 67,750 74,250 A 6,500
03 SAH2 I 67,750 74,250 A 6,500
OFG119ALSRIAUS S 8,080 14,580 A 6,500
AUEEES FH 230,361 235,361 A5,000
AUHFAUAM I I (AYSELEIA) 230,361 235,361 A5,000
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o & Yl ot
YN 2
BAYN 2Y(2YSEE)

SA-3H-S(3AH) - MRAS - BES INEH Hns2
202 Oddl 0 9,350 29,350
01 =LHOI I 0 9,350 29,350

OAEAM 2= O 0 9,350 A 9,350
204 MR FH| 572,120 612,120 A 40,000
03 SR 572,120 612,120 240,000

OYs =l 455,720 495,720 240,000

ArAEEN 2 (ASSEINH) ,466,052 2,530,402 A 64,350

AYMHIA B Y FRXR (0HAH) 802,161 866,511 A 64,350
202 o4 Hl 0 9,350 A 9,350
01 SLHO I 0 9,350 29,350

OagAN HE2FT OHI 0 9,350 A9,350
204 MR F Y| 764,960 819,960 255,000
03 EdE 23 764,960 819,960 255,000

OYsasl 595,760 650,760 A55,000

AAYAN 2 (AEEH) ,067,914 2,116,160 N48,246

AYMHIA B FRXR (A L) 686,887 735,133 N48,246
202 04l 0 9,350 29,350
01 =LHOI I 0 9,350 A9,350

AN HRF=E O 0 9,350 A 9,350

204 MR FH| 649,544 688,440 N 38,896

03 SFYRZEH 649,544 688,440 A 38,896
OYs sl 534,344 573,240 A 38,896
=aAEAN 2 (AYSEI ) ,310,864 2,345,683 A 34,819

AYNHIA By R (=4) 644,081 678,900 N 34,819
204 MR FH| 604,061 638,880 N 34,819
03 SFYREH 604,061 638,880 A 34,819

OYs el 479,261 514,080 A 34,819

HEAYAM 2 (ALSEI) ,228,560 1,251,268 A22,708

AYMHIA B FRXE(AE) 323,827 345,787 A 21,960
204 AR HFH| 283,080 305,040 A 21,960
03 EdE =3l 283,080 305,040 A 21,960

OYsasl 235,080 257,040 A 21,960

AYHA BHNE L JISEZ(HE) 539,700 540,448 AT48
401 AIEHIZ 2 I 229,402 230,150 ATA8
02 Zeltl 623 1,371 AT48

Oot=a Ag=sdlg £X 623 1,371 AT48
AUN SH(AYSESA) 2,901,119 2,976,119 AT75,000
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SA-EB - BAEH) - NRAY - BHES 0 4t o4 p/E-F HIDE2
A2 AMHIA BA AR (L) 769,620 844,620 AT75,000
204 AR HH| 720,360 795,360 A75,000
03 EZYREH 720,360 795,360 AT75,000
Ogsest| 545,160 620, 160 275,000
SHLEN 2L (2L SLESH) 1,556,215 1,580,688 N24,473
L AMHIA BA AR (SLH) 449,546 474,019 A24,473
204 AR A H| 405,607 430,080 A24,473
03 EZYREH 405,607 430,080 N24,473
Ogsest| 326,407 350,880 A24,473
SoAYUM 2L (AYSHEIIH) 1,921,435 1,948,755 A 27,320
L2 AMHA A HRTA(RN) 530,649 557,969 A 27,320
204 AR A H| 490,000 517,320 N27,320
03 EZYRFHI 490,000 517,320 A 27,320
Oogsest| 407,200 434,520 A27,320
NEAEM 2L (LAY SESIH) 2,130,162 2,179,792 A 49,630
AEMHIA B4 A2 (MA) 568,065 617,695 A 49,630
202 044l 0 9,350 A 9,350
01 =Lh ot i 0 9,350 ~9,350
OAEAN HEF=A (MU 0 9,350 A 9,350
204 MR FH| 536,800 577,080 240,280
03 EZ Y2 536,800 577,080 A40,280
Ogs &=t 443,200 483,480 A 40,280
HaAUM 2 (AYEEIH) 2,266,459 2,293,259 A 26,800
A AMHIA BA AT (EY) 386,575 413,375 A 26,800
204 AR HH| 341,840 368,640 A 26,800
03 EZYFEH 341,840 368,640 A 26,800
Ogsest| 271,040 297,840 A 26,800
EHAYUMN 2L (AYEEIH) 1,948,010 1,985,320 A 37,310
L2 AMHIA B4 ARTA(EL) 594,842 632, 152 A 37,310
204 AR A H| 548,530 585,840 A 37,310
03 EZYRFHI 548,530 585,840 A 37,310
Ogsest| 444,130 481,440 A 37,310
HlatAEN 2 (ASSHIIH) 1,939, 141 2,024,231 A 85,090
A8 MHIA SA A2 XA (0AH) 477,830 527,920 A 50,090
202 oddl 0 9,350 A 9,350
01 = LH o4 1l 0 9,350 A 9,350
OLYAN HRFE I 0 9,350 A 9,350
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Haagth 2 (ASSEIA)

SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
204 M= F Y| 442,740 483,480 A40,740
03 EZYREHI 442,740 483,480 A40,740
OYsasl 361,140 401,880 N40,740
LA BZENE L JIsE2 (0 369,943 404,943 A 35,000
406 JIEtA =01 & 185,000 220,000 A 35,000
01 JIEtA 20l A 185,000 220,000 A 35,000
OZAL & Xt &E 185,000 220,000 /35,000
BiotA RN 2 (ASSEINH) 2,940,117 3,011,292 AT1,175
AEAMHIA BA AR R (EHEH) 542,270 581,972 A 39,702
204 MR FH| 493,578 533,280 N 39,702
03 SEZ=RFH 493,578 533,280 N 39,702
Ogsest| 392,778 432,480 A 39,702
AEEA BHME L JISB2(EHQ) 1,465,393 1,496,866 A 31,473
401 AIEHI L 2CHEI 1,313,826 1,345,299 N31,473
01 A& HI 1,303,018 1,333,018 230,000
OAgotd XHEgns & U2 SdHERA U= 775,218 805,218 A 30,000
02 Zeltl 8,527 10,000 N1,473
OAYgord MEnd 2 USH Z@Es A= 8,527 10,000 A1,473
Heegs(agy=s) 64,375 57,519 6,856
BENE(AYSEIA) 64,375 57,519 6,856
ZNExz BHES 64,375 57,519 6,856
802 Btet=JIEt 64,375 57,519 6,856
01 2 DNEX=ttet= 36,825 29,969 6,856
OS=A22&H 22 =202x3 0k 6,856 0 6,856
HY2IZH (AY=2R) 315,395,360 320,360,878 A4,965,518
= 455,084 455,084 0
E 46,159,580 46,159,580 0
< 268,780,696 273,746,214 A4,965,518
lEARAH(ALSEIAH) 306,774,536 311,589,465 A4,814,929
= 446,384 446,384 0
EN 46,159,580 46,159,580 0
= 260, 168,572 264,983,501 AN4,814,929
QALAH(AYBRY) 250,683,403 254,473,403 A 3,790,000
E 46,159,580 46,159,580 0
=) 204,523,823 208,313,823 A 3,790,000
101 @12 H] 228,652,468 232,652,468 4,000,000
E 46,159,580 46,159,580 0
=) 182,492,888 186,492,888 24,000,000
01 2= 228,652,468 232,652,468 24,000,000
OJdles 130,854,772 134,854,772 24,000,000




B EL

HE: HYP YA (LBER)

Sl QP (AYSHE ) EERED
SN HH - (EH) - HRAY - BES 0] &b 2 p/E-T Hl DS 2

x 765, 759,580 76, 159,580 0
= 84,695,192 83,695, 192 4,000,000
204 R+ AH| 7,728,900 7,518,900 210,000
02 Mg 2 EH| 7,728,900 7,518,900 210,000
SEECES 7,728,900 7,518,900 210,000
olEe gy (AYBR 9) 3,282,471 3,507,400 £224,929
101 @121l 3,165,778 3,335,707 169,929
02 JIEHE 24 1,838,010 1,977,939 £139,929
OURYBDER 24 1,838,010 1,977,939 £139,929
03 BRI (RIHY)2ENE S 1,102,929 1,132,929 A30,000
ORI HA2Z R (22F) 1,102,929 1,132,929 £30,000
304 GZRLYIS 109,973 164,973 55,000
BEEEETEE 41,872 67,872 26,000
ORJAHAA2ZZT HSRES 41,872 67,872 A 26,000
02 ReIAALEI 39,364 54,364 A15,000
ORIHA2ZR 2pIAL2E I 39,364 54,364 A15,000
04 ZRH(RIHL)22NNBLHERLYIS 28,737 42,737 A 14,000
ORIHA22RN DBLEE 2L2 S 28,737 42,737 A 14,000
olEiE I (REE S) 52,362,278 53,162,278 800,000
304 GZRLIS 51,999,739 52,699,739 A700,000
02 ReIAAEI 9,283,888 9,983,888 700,000
ORoAA2E S 9,283,888 9,983,888 A700,000
307 £I2+0| & 362,539 462,539 £100,000
07 ASXZ3 362,539 462,539 100,000
oMotz X223 362,539 462,539 £100,000
SIEELIIESIEEE DY 8,620,824 8,771,413 150,589
2 8,700 8,700 0
= 8,612,124 8,762,713 150,589
2 HH (19S5 4TS E) 229,349 232,349 A3,000
202 01t 70,695 73,695 £3,000
01 2Lhottl 70,695 73,695 A3,000
ONM9S+TE L= (04H]) 70,695 73,695 £3,000
SIEEENCT-PYn) 326,377 330,882 A4,505
202 01t 66.300 70,805 A4,505
01 2Uhottl 66.300 70,805 ~4,505
OAYHY REX(01H]) 66,300 70,805 ~4,505
SIEETETIVEPEYY 617.381 637,381 £20,000
202 01t 162,070 182,070 £20,000
01 2Uhottl 162,070 182,070 £20,000




AN FAEEIB

HE: UYL YAH (L)

Sl IR (A SES ) EERED

SA-3H-S(3AH) - MRAS - BES Ol &F o4 I E M Hns2
OXg#y gexa (o) 162,070 182,070 220,000
AU (BFLYM) 512,232 534,232 £22,000
202 01t 119,270 141,270 A22,000
NIERTE 119,270 141,270 £22,000
OAYHY ALEX(01H]) 119,270 141,270 £22,000
I ZHI(OH&HA A ) 544,909 577,909 33,000
202 01t 130,200 163,200 £33,000
NIETTCE 130,200 163,200 33,000
OAYHY L= (01H) 130,200 163,200 33,000
=AU (T LYM) 536,616 556,616 £20,000
202 01t 135,550 155,550 £20,000
01 2Lhotbl 135,550 156,550 220,000
OAYHY L= (01H]) 135,550 155,550 £20,000
A (BYLYM) 324,105 338,358 A14,253
202 01t 60,717 74,970 A14,253
01 2Lholbl 60,717 74,970 A14,253
OAYHY REX(01H]) 60,717 74,970 A 14,253
2B (0 AL A) 382,588 406,419 £.23,831
202 01t 77,149 100,980 £.23,831
01 2Lhol8l 77,149 100,980 £.23,831
OAYHY AREX(01H]) 77,149 100,980 £.23,831
= ZHI (N A A ) 394,699 404,699 £10,000
202 04t 98,630 108,630 210,000
01 2Lhot8l 98,630 108,630 £10,000
OAYHY L= (01H]) 98,630 108,630 £10,000




